		NOTICE FOR	APPOINTMENT OF REGUL	AR AND RURAL DEA	LERSHIPS IN THE	STATE OF GOA - BHA	RAT PETROLEUM COR	PORATION LIMIT	TED					
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in KIs	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)	Minimum Area of site Required (in Sq. Metre)	by appl (Rs in L	icant .akh)	Mode of selection (Draw of Lots/Bidd ing)	Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	ent of			
1	Within 6 KM of Pradnya High School at Corgao towards Pernem on MDR	NORTH GOA	Rural	190	ST	CFS	30	20	600	0	0	Draw of Lots	0	2
2	From Village Betalbatim to Village Cavelossim on Dabolim-Cavelossim road	SOUTH GOA	Rural	170	ST	CFS	30	20	600	0	0	Draw of Lots	0	2
	Village Molem to Village Colem, Taluka - Dharbandora	SOUTH GOA	Rural	100	ST	CFS	30	20	600	0	0	Draw of Lots	0	2
4	Margao WML (Not on NH/SH)	SOUTH GOA	Regular	220	ST	CFS	30	20	600	0	0	Draw of Lots	0	3
	Quepem WML (Not on NH/SH)	SOUTH GOA	Regular	170	ST	CFS	30	20	600	0	0	Draw of Lots	0	3
6	From Titan Gate to ZIOTL on LHS while travelling from Titan Gate to Dabolim Airport on NH 566	SOUTH GOA	Regular	300	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
/	From Village Dharbandora to Village Molem on NH 748	SOUTH GOA	Regular	220	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
8	From Margao to Village Chandor Via Village Davorlim on State Highway	SOUTH GOA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
9	Between Tiracol Ferry terminal to Maharashtra-Goa check post on main road (MDR) in Goa state	NORTH GOA	Rural	150	OBC	DC	30	20	600	16	35	Draw of Lots	5	3
10	From Village Chopdem To Village Pernem on Agarwado-Parcem- Pernem Road	NORTH GOA	Rural	280	OBC	DC	30	20	600	16	35	Draw of Lots	5	3
11	From Village Saligao to Mapusa Via Parra (Not on NH/SH)	NORTH GOA	Rural	480	OBC	DC	30	20	600	16	35	Draw of Lots	5	3
17	From Village Socorro to Village Punola on Socorro-Punola main road (Not on NH/SH)	NORTH GOA	Rural	170	OBC	DC	30	20	600	16	35	Draw of Lots	5	3
13	On New Bicholim Bypass road	NORTH GOA	Rural	220	OPEN	DC	30	20	600	16	35	Draw of Lots	5	4
14	Village Ibrampur, Taluka - Pernem	NORTH GOA	Rural	100	OPEN	DC	30	20	600	16	35	Draw of Lots	5	4
15	Within 2 KM of Agnel Institute of technology & Design on Mapusa-Anjuna Road	NORTH GOA	Rural	230	OPEN	DC	30	20	600	16	35	Draw of Lots	5	4
16	Within 2KM from Chapel of St Sebastian at Arpora Junction towards Calangute on Calangute-Arpora Road	NORTH GOA	Rural	350	OPEN	DC	30	20	600	16	35	Draw of Lots	5	4
17	From Village Velim to Village Nagorcem- Palolem via Canaguinim & Cola	SOUTH GOA	Rural	170	SC	CFS	30	20	600	0	0	Draw of Lots	0	2
1 2	From Clock Tower, Margao to Village Colva on Margao-Colva Road (not on NH/SH)	SOUTH GOA	Rural	220	ST	CFS	30	20	600	0	0	Draw of Lots	0	2

GOA

		NOTICE FOR	APPOINTMENT OF REGUL	AR AND RURAL DEA	LERSHIPS IN THE	STATE OF GOA - BHA	RAT PETROLEUM COR	PORATION LIMIT	TED					
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)	Minimum Area of site Required (in Sq. Metre)	Finance to bo by appl (Rs in L	icant		Fixed Fee / Min bid amount (Rs in Lakh)	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	ent of			
19	Village Agonda, Taluka - Canacona	SOUTH GOA	Rural	170	ST	CFS	30	20	600	0	0	Draw of Lots	0	2
20	Village Raia between Arlem Circle and Bolshe Circle (outside municiple limit)	SOUTH GOA	Rural	220	ST	CFS	30	20	600	0	0	Draw of Lots	0	2
21	From Village Cuelim to Village Betalbatim via Cansaulim on Dabolim-Cavelossim road	SOUTH GOA	Rural	170	ОВС	DC	30	20	600	16	35	Draw of Lots	5	3
22	Village Adnem, Tal - Quepem on LHS while travelling from Bali to Quepem on Quepem- Bali road	SOUTH GOA	Rural	150	OPEN	DC	30	20	600	16	35	Draw of Lots	5	4
23	Village Ambaulim, Taluka - Quepem on LHS while travelling from Quepem to Bali on Quepem-Bali road	SOUTH GOA	Rural	150	OPEN	DC	30	20	600	16	35	Draw of Lots	5	4
24	Village Orgao, Taluka - Ponda	SOUTH GOA	Rural	190	OPEN	DC	30	20	600	16	35	Draw of Lots	5	4
25	Village Sao Jose de Areal on new Davorlim- Chandor bypass road	SOUTH GOA	Rural	180	OPEN	DC	30	20	600	16	35	Draw of Lots	5	4
26	Within 5 km of Floriano Vaz Circle towards Chandor on Margao - Chandor road (not on NH/SH)	SOUTH GOA	Rural	170	OPEN CC 1	DC	30	20	600	16	35	Draw of Lots	5	4
27	Village Colvale on LHS while travelling from Panjim To Dargalim on NH 66	NORTH GOA	Regular	650	OPEN	СС	35	35	1225	32	12	Bidding	30	5
28	From Village Dargalim to Village Poroscodem on LHS while going from Mapusa to Patradevi on NH66	NORTH GOA	Regular	350	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
29	From Goa Medical College to Zuari Bridge on NH 66 on either side	NORTH GOA	Regular	320	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
30	Between Shri Dattatreya Temple in Sanquelim and Village Querim on NH 748AA on either side	NORTH GOA	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
31	From Village Tamboxem to Maharashtra Border on LHS while going from Mapusa to Patradevi on NH 66	NORTH GOA	Regular	300	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
32	Within 2 KM from Redkar Hospital at Dhargal towards Panjim on LHS on NH 66	NORTH GOA	Regular	500	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
33	From Village Dargalim to Porvorim on LHS while traveling from Malpem to Porvorim on NH 66	NORTH GOA	Regular	350	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
34	Between Village Mulgao to Village Carapur on Mapusa -Bacholim- Valpoi Road	NORTH GOA	Regular	230	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5

		NOTICE FOR	APPOINTMENT OF REGUL	AR AND RURAL DEA	LERSHIPS IN THE	STATE OF GOA - BHA	RAT PETROLEUM COR	PORATION LIMIT	TED					
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in KIs	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)	Minimum Depth of Site Required (in Metre)	Minimum Area of site Required (in Sq. Metre)	Finance to be by appl (Rs in L	icant	Mode of selection (Draw of Lots/Bidd ing)		Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	ent of			
35	From Village Sanquelim to Village Arvalem on Sanquelim-Valpoi Road	NORTH GOA	Regular	160	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
36	Village Loliem on LHS while travelling from Margao to Karwar on NH 66	SOUTH GOA	Regular	310	OPEN	СС	35	35	1225	32	12	Bidding	30	5
37	From Village Verna To Margao Bus Stand via Nuvem on Old NH 66	SOUTH GOA	Regular	240	OPEN CC 2	CC	35	35	1225	32	12	Bidding	30	5
38	Canacona WML (Not on NH/SH)	SOUTH GOA	Regular	180	ST	CFS	30	20	600	0	0	Draw of Lots	0	3
39	From Karnataka Border to Village Nagorcem- Palolem on LHS on travelling from Karwar to Margao on NH66	SOUTH GOA	Regular	230	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
40	From Village Padi to Village Cordem on LHS while travelling from Karwar to Margao on NH 66	SOUTH GOA	Regular	270	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
41	From Village Dharbandora to Village Codli on Dharbandora- Sanvordem State Highway	SOUTH GOA	Regular	140	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
42	From Margao to Village Camorlim on Margao-Ponda State Highway	SOUTH GOA	Regular	170	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
43	Sanguem WML (Not on NH/SH)	SOUTH GOA	Regular	150	OBC	DC	30	20	600	32	55	Draw of Lots	15	4
44	From Harmony Circle at Bandora to Village Dharbandora on NH 748 on either side	SOUTH GOA	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
45	From Titan Gate to Village Betora Via Village Loutolim on NH 566	SOUTH GOA	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
46	From Village Navelim to Village Cuncolim on NH 66	SOUTH GOA	Regular	270	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
47	From Harmony Circle, Bandora to Village Boma on LHS on travelling from Ponda to Panjim on NH748	SOUTH GOA	Regular	200	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
48	From Village Curti to Village Betora on NH- 566 on either side	SOUTH GOA	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
49	From Village Nagorcem-Palolem to Poinguinim on NH66 on LHS on travelling from Margao to Karwar	SOUTH GOA	Regular	250	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
50	From Zuari Bridge to Village Navelim on New Western Bypass road on NH 66 on either side	SOUTH GOA	Regular	320	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
51	Village Sancoale, Taluka- Mormugao on LHS while travelling from Cortalim to Vasco on NH 366	SOUTH GOA	Regular	300	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

	NOTICE FOR APPOINTMENT OF REGULAR AND RURAL DEALERSHIPS IN THE STATE OF GOA - BHARAT PETROLEUM CORPORATION LIMITED													
S.NO	Name of the Location	Revenue District	Type of RO (Regular/Rural)	Estimated monthly Sales Potential (MS+HSD) in Kls	Category	Type of Site (CC/DC/CFS)	Minimum Frontage of Site Required (in Metre)		Minimum Area of site Required (in Sq. Metre)		icant		amount	Security Deposit (Rs in Lakh)
1	2	3	4	5	6	7	8A	8B	8C	9A	9B	10	11	12
					(SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OPE N CC 1/OPEN CC 2/OPEN PH)					Estimated working capital requirement for operation of RO (Rs in Lakh)	ent of			
52	Within 4 KM of ZIOTL towards Dabolim Airport on LHS on NH 566	SOUTH GOA	Regular	300	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
53	From Village Chandor to Village Curchorem via Village Xic-Xelvona on Chandor-Curchorem road	SOUTH GOA	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website (www.bharatpetroleum.in / www.hindustanpetroleum.com / www.iocl.com / www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27.09.2023

Type of RO	Type of Site	Category	Application fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
	CFS SC/ST CC OBC		3000		CFS	SC/ST	2500
			5000		CC	OBC	4000
Regular Ros	CC	Open	10000	Rural ROs	CC	Open	8000
	DC OBC		5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of $\underline{15}$ years and renewable every $\underline{5}$ years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For any information with regard to the advertisement, candidates may contact the following address:-

Sr No.	Territory	District Covered	Address	Contact no
		HORTHOOA	TERRITORY COORDINATOR	
1	Goa	SOUTH GOA	(RETAIL), GOA , BPCL TERRITORY OFFICE, PLOT NO. 32, EDC COMPLEX, PATTO PLAZA, PANJIM,GOA	9587786988

BPCL 4